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’ 100kN/ M%EBZ 5 1.00/0.00 ~ 0.05 100.73| 3Sm%x A% -~ = - —| 100kN/mM%E#EZ 5 1.00( 10.75 ~ 10.89 100.73| 3mz#EZ 5 -~ = = =
Zh s 1.00{0.05 ~ 7.84 100.00f Zh A4t |0.00 ~ 7.84| 2.09 10.96 zTh s 1.00] 5.00 ~ 10.75 100.00| #h st | 500 ~ 10.89] 2.09 10.96
9 100kN/ Mm% %% 1.00{0.00 ~ 0.35 105.21| 3m%x A5 ol ~ = = —| 100kN/m%# % % 1.00] 10.91 ~ 11.99 105.21| 3m#EZ S =1 ~ = = =
Zh s 1.00{0.35 ~ 8.14 100.00f Zh A4t | 0.00 ~ 8.14| 2.06 10.81 zTh s 1.00] 5.00 ~ 10.91 100.00| #h kst | 500 ~ 11.99| 2.06 10.81
3 100kN/m%B %% 1.00{ 0.00 ~ 0.46 106.77| 3m%x A5 ol ~ = = —| 100kN/m%# % % 1.00) 11.13 ~ 12.64 106.77| 3m&{EZ S =1 ~ = = =
Zh s 1.00{ 046 ~ 8.24 100.00f #hldst |0.00 ~ 8.24| 203 10.66 zTh s 1.00] 5.00 ~ 11.13 100.00| #h kst | 500 ~ 12.64] 203 10.66
A 100kN/m%B %% 1.00{0.00 ~ 143 121.78| 3m%x A% ol ~ = = —| 100kN/m%# % % 1.00)1 1219 ~ 20.66 121.78| 3m&EEZ S =1 ~ = = =
Zh s 1.00{1.43 ~ 922 100.00f Zh st |0.00 ~ 9.22| 242 12.69 zTh s 1.00] 5.00 ~ 1219 100.00| #h st | 500 ~ 20.66| 242 12.69
5 100kN/m%B %% 1.00/0.00 ~ 1.51 123.04| 3m%x A D ol ~ = = —| 100kN/mM%# % % 1.00) 12.28 ~ 21.93 123.04| 3m#EZD =1 ~ = = =
Zh s 1.00{1.51 ~ 930 100.00f Zh A4t | 0.00 ~ 9.30| 241 12.66 zTh s 1.00] 5.00 ~ 1228 100.00| #h st | 500 ~ 21.93| 241 12.66
6 100kN/m%B %% 1.00{0.00 ~ 1.63 124.86| 3m%x A5 ol ~ = = —| 100kN/m%# % % 1.00] 12.25 ~ 23.21 124.86| 3m&EZ D =1 ~ = = =
Zh s 1.00]1.63 ~ 941 100.00f Zh A4t | 0.00 ~ 9.41| 242 12.67 zTh s 1.00] 5.00 ~ 1225 100.00| #h st | 500 ~ 2321 242 12.67
7 100kN/m%B %% 1.00{0.00 ~ 1.98 130.59| 3Im%x#EZ % ol ~ = = —| 100kN/mM%# % % 1.00] 11.70 ~ 24.83 130.59| 3m&EZ D =1 ~ = = =
Zh s 1.00{1.98 ~ 9.77 100.00f Zh A4t |0.00 ~ 9.77| 2.46 12.89 zTh s 1.00] 5.00 ~ 11.70 100.00| #h st | 500 ~ 2483| 246 12.89
8 100kN/m%B %% 1.00{0.00 ~ 209 132.39| 3m%#EA D ol ~ = = —| 100kN/m%# % % 1.00] 11.70 ~ 26.68 132.39| 3m&EEZD =1 ~ = = =
Zh s 1.00{2.09 ~ 9.88 100.00f Zh A4+ | 0.00 ~ 9.88| 2.77 14.51 zTh s 1.00] 5.00 ~ 11.70 100.00| #h st | 500 ~ 26.68| 2.77 14.51
9 100kN/m%B %% 1.00]0.00 ~ 251 139.35| 3m% A% ol ~ = = —| 100kN/mM%# % % 1.00) 11.10 ~ 28.03 139.35| 3m#EZD =1 ~ = = =
zHns 1.00{ 251 ~ 10.30 100.00f Zh A4t | 0.00 ~ 10.30| 2.84 14.90 zTh s 1.00] 5.00 ~ 11.10 100.00f =4t | 500 ~ 28.03| 284 14.90]
10 100kN/ M%EBZ % 1.00/0.00 ~ 254 139.79| 3Sm%#EZ % -~ = - —| 100kN/mM%E#EZ 5 1.00( 10.81 ~ 25.05 139.79| 3m&#EZ % -~ = = =
zHns 1.00{ 254 ~ 10.32 100.00f Zh A4t | 0.00 ~ 10.32] 2.90 15.20 zTh s 1.00] 5.00 ~ 10.81 100.00f #h st | 500 ~ 2505/ 2.90 15.20]
» 100kN/ M%EBZ % 1.00/0.00 ~ 250 139.24| 3m%x# A5 -~ = - —| 100kN/mM%E#EZ5 1.00( 10.72 ~ 23.75 139.24| 3mZ B A5 -~ = = =
zHns 1.00{ 250 ~ 10.29 100.00f Zh A4t | 0.00 ~ 10.29] 2.60 13.61 zTh s 1.00] 5.00 ~ 10.72 100.00f #h st | 500 ~ 23.75| 2.60 13.61
12 100kN/m%B %% 1.00|0.00 ~ 251 139.35| 3m% A% ol ~ = = —| 100kN/m%# % % 1.00] 10.81 ~ 2473 139.35| 3m#EZD =1 ~ = = =
zHns 1.00{ 251 ~ 10.30 100.00f Zh A4t | 0.00 ~ 10.30] 257 13.49 zTh s 1.00] 5.00 ~ 10.81 100.00| =h kst | 500 ~ 24.73| 257 13.49
13 100kN/m%B %% 1.00/0.00 ~ 211 132.64| 3m%x#EZ D ol ~ = = —| 100kN/m%# % % 1.00) 11.28 ~ 2355 132.64| 3m&EZD =1 ~ = = =
Zh s 1.00{2.11 ~ 9.89 100.00f #h A4+ | 0.00 ~ 9.89] 250 13.11 zTh s 1.00] 5.00 ~ 11.28 100.00f #h st | 500 ~ 2355 250 13.11
1 100kN/ M%EBZ % 1.00/0.00 ~ 1.15 117.39| 3m% A5 -~ = - —| 100kN/mM%E#EZ5 1.00( 1254 ~ 19.19 117.39| 3m&#E A5 -~ = = =
Zh s 1.00{1.15 ~ 8.94 100.00f Zhldst | 0.00 ~ 894 210 11.04 zTh s 1.00] 5.00 ~ 1254 100.00f #h st | 500 ~ 19.19] 2.10 11.04
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mM%EEB 25 ~ ImEBAS ~
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